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1. The diagram at the right is an illustration of a glide reflection.
Explain to someone not familiar with the term “glide reflection”
what is occurring.

2 Thcgmphbel howsAABCbecommgAA"B C* under a glide reflection.

5 1) Write a composition of transformations representing
N1 __4lg this glide reflection. 2
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. 3. A4BC has coordinates .4(2,3), 3(-3,7) and C(0,2). ‘

a) Plot A4BC and plot its image after the mapping,

(x.3) > (x+1-3). L Nay[hrounsl
b) A glide reﬂectlion is occuming under this mapping. ( Xﬂ - 9
What is the line of reflection for the glide reflection? At {4 3) '%(3) 3
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6. Given A4BC: 4(0,4)
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a) Plot the segment.

b) Plottheimgeaﬁerthccomposiﬁonhasoccmred@
state the coordinates: A'(-Y,-4 ) and B(~&, (D)

otning points A(4,-2) and B(6.4) under T, _, -

%ND \,,\"

| A

7

s

.Xfo )'9‘ “1

d

%)

¢) What is the line of reflection of the glide reflection? (;,-_2) (-y '2->’L"4

B(6,D)(-6:4)(-e,
@ Write the glide relection a5 a singlTappind Z

ALY (4,4

Y- 0OX1S

“Trons(ahon

(VX' 2 )-? (-76 ,‘5.- 'J>

a) Graph A4BC

b) Graph and 1abel the image under I, _; »
) 3%

A

Explain.

a) Graph A4BC.
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¢) In this composition, a translation and a reflection have
occurred. Is this a glide reflection?

b) Graph and label the image under T, 67
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